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“Economics is the Science which

studies_human behavior as a

rel'ationéhip between'ends and

scarce means which have alternative

I'-US'eé’f.!'These'ii_neé,are atﬁibuted tor

(A)- Samuetson. By
(B) .
(C)

)

Lionel Robbins
Robertson

Marshall :

.. WhenTotal Utility becomes maximurm,

~ then Marginal Utility will be :

®
®)

o
D)
Accordin‘g to Marshall, the basis of

®
(=)

©
)

Minimum
Average =
Zero

Négéfiyef ‘

consumersurplums o

Law of Dzmlmshmg Margmal
Utility _' |

Law of Equi-MarginaI‘Uﬁiity E
Law of Variable Proportions ~
Aliofthiese " |

" Inthe coritext of straight ine demand |

curve tduching both the axes, which

~one of the following i is correct ?The .~

| demand is elastic:
(A Belc.wtheMld—point :
(B} Above the Mid-point

- 3A/M4

(2)

o H{C)

(D)

, 'effect is
A
®"

. .(C) .
ii»)

(D)

- (C) Atthe Mid-pointof the curve
(D) Throughout the length gf the

demand curve

Slutsky equation deals with decom- X
posmon of
(A) Price effectis into Subststutlon '
effe_ct and Income effect

Goods into Superidr and

Inferior goods

(B)

Goods into Necessities and

« Luxuries- - s it O
Consumer and Producer
Surplus

o _A Consumer’s Demand Curve can

be denved from :
(A) Income Consumption Curve :
.Engel's Curve

(C) .Price Consumption Curve

(D) None E)fthe_se o
Giffen Paradqx occuss w,heﬁ Income

Greaterthan Substitution effect
-‘Equa! fo Substitution effect
Less than the Substitution effect

* Substitution effect

Cross Elaéticiiy ofdemand forapair

of substitute goods will be :

o (A)  Positive
JENEN AB)Upitary - gtoeen i

(C) Negative

- nfinite

Contd.

Negative and dominates the .
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®

(B)

10..
- satisfaction underlndifference Curve -
| AnalysiS' |

: @ MRS,

'- (C) MRS,

(A

©

‘The slope of the Indifference Curve

shows :

The Price Ratio

(B) .
_ Substitution |

(C) Diminishing Marginal Rate of

Technicat Substit_uti_on

- The Price-income ratio

For the consumérth réach maximum

‘‘‘‘‘‘

P IPY and MRS

must be dlmm:shmg

(B) MRS =P /PX and MRS

- must be mcreasmg

= P, IPX and MRS

ntustbe constant
(D) MRS, > PXIPY and MRS

must be dlmrnlshrng

In the Second Stage of Law of

Variable Proportlons

‘ and Average Product increases
(B) Average Product diminishes
and Marginal,Rrodyct ingreases

Average Product diminishes

OY — 3A/14

Diminishing Margmal Rate of, .

Margma[ Product drmlnlshes '

Both Marginal Product and

(3)

| (D) Both 'Marginal- Product and

12

13.

14,

. -_(C)
. (D)

15,

®

(D)

" Average Product Increases

In case of Cobb-Douglas Produc-

tion Function output elasticity of an |

' irtput is:

(A) Coneteht.

(B) Unity

(C) Afunction of a!l the rnputs
(D)
Total Product erI be maxrmum when _

(A)

Indetermmate

Margrnal Product is maximum
Average Product is maximum -
(C) MarginaIPrOduct“isz'ero |
Marginal Produét is neéative
Iso-quants are also krtown as:
(A) Productron Possmmty Curve :
(B) Equal Product Curve -
Iso-revenue Cur\re |

iso-cost iine

Least cost combination of two factor

inputs is achieved-at a point where ,

" (A) - Iso- costlme cuts the Iso -quant
| (B) Iso-cost hne is below the Iso- -
’ quant
Iso- cost line is tangent to the’
'Iso-quant
(D) None of these

(Turnover)




16.. The difference‘betwe'en Refurnstoa

A
L ®

17.

. ©

18..

19.

- ®

(D)

factor and Returns to sca!e is :
Slze oftnputs B
Size of ou{puts ‘
©)y
' P.roduction function

None of these

Varlabihty of inputs in. the.

In the Short-run Average Variable

~ Costs of Production for a firm are
-~ rising, then thls md:cates that

Average Total Costs are at a

1

(A)
' maximum
Average Fixed costs are
constant

Average Variable Costs

Average Variable Costs are
below Average Fixed Costs

Opp'ortu_nity cost rsferto: -
(A)  Money e%psnses~ incuried on
| A factors

(B) Theimputed value of the |nputs'
owned by the fi irms |

(©)
(D)

The Expansion Paﬁ ofafimwith Cobb-
Douglas Production function s :

The next best alternative

None of these

(A) A downward slopmg stralght'

1me

_OY-—3AI14

Marginal costs are above

22,

(4)

-20.

21.

D)

(B) An upward sloping straight line
(C) Acurve convex to the origin

(D) A curve concave to the origin

The Average Fixed Cost Curve wil

| a!ways be:

(A)
(B)

A rectangu[ar hyperboia

A downward sloping convexto
the origin curve |

(C) ‘A dowhward sl_dping straight
line

U-shaped curve

ifthe mdwxdua! flrm s demand curve

s honzontai then

. © T

A
. (B)

The flrm isa Price,—maker
‘The firm is a Price-taker
(C) Marginal revenue is equal to

: Averége Cost

‘v
L P R S

Between flrm

.and :ndustry disappears

Ifthe indlwduai firms demand curve

| commdes with the Market,_demand

curve, then::

(A) The firm is a price-taker

(B} The firm can set any price it

wants, without limitations

A (Cs i ’The lﬁirr{hl |S‘é’|\flbﬂdp0“5i '

(D) Marginal revenue is equal to

Average Revenue

Contd.




23, Perfect compet'ition_assumes: ' (B) 'Lowervelasticity

(A) Variety °f900d§ . | ) Expensive factor price
(B) Productdifferentiated (D) Noneofthese

(C) Homogeneity of goods - : ’ ,
o o : 28. Monopolistic competition differs
(D) Low priced goods
: - - from Perfect’ competitaon pnmarliy
24. In the long-run equilibrium, a because '

competitive firm earns ;- . ' . . -
' petit (A) In Monopolistic competition
) Supernorma{ profit enfry intothe industry is blocked

o {B) ,Proflts equa[tootherﬂrms . o - , .
aenle f Ry (B) In MOHOpOhStiC competition

(C) VNormai profits .. firms can dlfferenuate their -

(D) Noprofit ., R products

25. In t_he long-run, the market price ?f a () In Monopohstlc competltlon
commodity is equal to its minimum - there are relatively few barriers
average cost of productlon if there is: to entry

(A) Perfect competltlon | (D) in perfect competition firms can

(B) Monopoly

differentiate their products -
(C) Oligopoly . | SR o
. -, 29. The difference betwaen the value of

{D) - Monopolistic competition S _
' : | Marginal Product and the Marginal

26. A Natural Monopoly is a special type " Revenue Productarises only i

of monopoly that arises from -

:'(A) Indivisibilitiss “(A) 'Average Revenue is notequai
ndivisibilities - :

. S _ S to Marginal Revenue
. (B) Economies of Scale _ ' J
(C) Geometric properties ' (B') Average Cost is not equal to

(D) Low cost Margmal Cost

T . (C) Total Revenue is not equal to
27.  In Price-discrimination, a Monopolist - ‘

§ha10s 3 Jower prige gt the matket | et |
where there is : _ _ (D) Average Cost is not equai to .
(A) - Higherelasticity © = - Average Revenue

OY-3AM4 (8 (Tumover)




30. ACartelis:

31_._.

32,
(A) Normative only

33,

(A) ,A market structure with small
* number of large firms -

(B) A market structure with !arge
number of small firms

(C) Agroup of firms acting together

to raise Price, decrease Output
- and increase in economic profit

(D) A Market with only two firms

The Theorem which states, if factors of

'production'are'paid according to their
- Marginal Products then the Total
Product will just exhaust, proves the’

valldlty of the :

(A -Coase Theorem |

B) Parsrmony Theorem
(C) Central Limit Theorem

| (D) E'u-le_r-'s Theorem

TheMarginaI Productivity Theory is :

(B) Both Positive and Normatlve

, (C)'- Positive and not Normat_ive

. (D)' More Positive and Less

Normative -

The demand for. factors of "

production is :
(A) Autonomous démand
(B) Derived demand

| (C) Kinked demand

(D) Segmented demand

OY=3A/M4

34,

35.

36.

Urider which one of the following

_ conditions, does Product Exhaustion
) Theorem hold ?- '

(A) Increasmg retums to scale
(B) Decrea_smg_ returns to scale.
(C) Constantreturns to scale

(D) Constant return_e to facfors of

production .

' Quasr rent is rewarded to factor of

product:on which.is :

(A) Economic rentinthe shbrt—run

. but Transfereaming in the long-
un' _ _
(B) Transfereaming inthe short-run
©) Trenefer earning' both in ‘the
' short-run and fong-run

(D) Economigrentboth in the short-

" run and lohg-run
With‘which ofthe fo[lowing Theories
of Wages is John Stuart Mill

" associated ? -

37.

(A) Marginal Piod uctlwfy Theory of

_ .Wages L
(B) Wages FundTheory
(C) Subsistence Theory of Wages
(D) Iron Law of Wages
Dynamic Theory of Profit was
introduced by :
(A) . Marshall

- ®) WalFas |

ElEIU I gRGt

() J.B. Clark
(D)} None ofthem

Contd.




38. The Keynesian Theory explained
-interest as a reward for ;

(A)
(B)
(C)

(D)

Parting with liquidity
Abstihence
Saving

Inconvenience

-39. When LM curve i vertical, which one
. of the following is correct ? An
. Increase in money supply will lead to:

n'.l}gﬁ){:‘, Tt f

. (B)
(0
(D)

40. quwdlty trap isa situation in which :

A
(B)
()

- (D)

Fall in interest rate .
N HBINOER S I SRR

LT

Falt in the level of income

Rise in the rate of. mterest _

No change inthe level ofincome. |

Current mterest rates are low
and savmgs rate are low

Current interest rates-are low
~ and savings rate are high

Curre'nt interest r.a;test are high- -

--and interestrates are fow

Current interest rates ‘arevhig'h g

_and savings rates are low

41. NNP at factor cbstis

(A)
(B)

(D)

. OY-3A/14

GNP at market prlCes —
Deprematron

NNP at market prices — Indirect
taxes + Depreciation

'NNP at market prices — Indirect

taxes + Subsidies.

NNP at market pnces + Indrrect
taxes '

- 45,

42.

43.

Gross Natrona! Product is equat to:

(A) Total output of goods and
servicesinayear

(B) Total output mirius intermediate
consumption- .- :

(C) Total outputminasrsavings

(D) Total output pius total factor
payments

The differences between Gross
National Product and Gross
Domestic Product is equalto:

(A) " Gross Domestic Investment

44,
A GNPand Poputatlonincrease

(B) NetForeign tnvestment

(C) Net Imports .

(D) Net factor lncome from abroad '

Per caplta Income rises when

atthe same rate

' (B)" GNP and'PopulatEOn‘dedrease

()

(C) GNP increases faster than

~ Population-

(D) - GNP increases slower than
. ~.Population.

Which of the tollovring is not related
to ‘Empowerment of Women' ?

(A G'ender_Developm’_éntlndex ‘
I (B) Gender . Empowerment

Measure
(C) Gender Budgeting -

(D) Gender discrimination

(Turnover)




46.

47,

48,

49.

50.

OY-3A/14

@™
- ®

(D)

»
- (B)

“The concept of PQLI was developed

by:.

Morris D Morris
UNO
UNDP

OPHIE

(C)

T_he 60mponentls of HD! is/are :
(A) Life Expectancy Index ‘
(B) InfantMortality Rate

(C) Popﬁla‘tion Growtl; Rate )
(D) Aliofthese |

The Multi Dimensional Poverty Index

has been developed by :- o

(A) .UNESCO

(B) OPHI

(C) IMF
(D) Morris D Morris

Which of the fo!lqwing is not a

method of estimating National

Income ?

(A)  Income Method -

(B) Value Added Method

"(C) Export-Import Method

(D) Expenditure Method

Real GDP is obtained by :
Nominal GDP X Price level
Nominal GDP/GDP deflator
Nominal GDP _ GDP deflator

Nominal GDP/Price level

©)
(D)

(8

'53.

51, The Multiplier Theory explains the -
Cumulative effects of changes of
investment on income via their effects

on: '
(A)
(B)
C)
(D)
If the MPC is 0.6, the investment
multiplier will be : - -

. (M) 1687
- (B) 25

©) 80 -
(D) 4.0

Demand price
_Supp[y price
Absolute price level

“Consumption expenditure

52.

“Dynamic multiplier occurs when:
- (A) ,—Ther assumption ceteris -
| Paribus is dropped

(B) The economy is not in
equilibrium - ' ,

‘Consumption is unrelated to
disposable income -

(C).

There is a lagged response
between Consumption and
Disposable income

(D)

The Balance Budget Theorem states
that the balanced budget multipiler is

54.

always :
A
(B)
- ©
- (B

Less than zero
Greaterthan zero

: Equaf to Unity |
Infinity |

Contd.




‘55,

56.

57.

Ifthe value of Investment Multiplier is
1 then incremental income is ; o
(A) ,COmp!eteEyseved.

(B) Compi'e‘t‘e'iy. spent  on
consumption '-

(C), Higher 'p.orti_on saved arid lower

portion spenton consumption

(D) Lower portlon saved and hlgher
portlon spent on consumptlon

Autonomous investment curve is :

(A) Vertlcal straight line
(B) Horizontal straightline
(C) Downward sloping curve

(D) Upward sloping curve

If Capital. i subject to Diminishing
Returns as the Stock of Capital ‘

increases Margmal Efficiency of

.- Capital'..

"58.

(A) Deoreeses :

(B) Increases -
| .;(C). Remains constant

(D) Noneofthese

Induced Investmentis :

A !n‘come'e[astio'

(B) Income inelastic

. (C).. Negative!y sloped

(D) Negatively related to National
Income

- OY-3A/14

59. 'Ac_oording-to_ Keynes Theory of

60.

61.

Income determination aggregate

income is always equalto: .

(A) Consumption plus Savings

| (BY Consumption plus Production

(C) Consumption plus Investment

. (D) Production plus Inve_sin;uent

‘The shape of Aggregate Demand

Curvein Keynesaan theory ofincome

determ;nat[on s
(A) Horizontal
(B) Vertical

(C) Upward rising

('D) Downwar"d sloping |

'Who descnbed CommerCIai Banks

as Manufaoturers of Money 7

| (A) R.S. Sayers

62,

(D) - Dena Bank

(B) De Kock
(C) Walter Leaf

- (D) Crowther

Wh_iCH of the following is not a Public

Sector Bank ? -

(A) State Bank of India
(B) HDFC |
(C) Punjab National Bank

1

( Turn over)




63.

In orderto éontro'l_cred it the Central

B ‘Bank should :

64.

(A) Sell Government Securities
~ and reduce Bank rate

(B) Sell Government Securities |

and increase Bank rate

(C) Buy Government Securities .

- and increase Bank rate
(D)  Buy Government Securities
and reduce Bankrate
Gilt-Edged market refers to-
(A). Market for Gold and Silver

;) - Bullion Market

85,

66.

(C)" Market for'G’overnm‘e'n‘t and

Semi-government-Securities

(D) Market for Guns -

Which of the following functions is not
ofaCentral Bank ? |

(A) Acting as a lender of the last

resort . . _
(B) Accepting deposits from the
public
(C) Acting as a Controller of‘_crédit
(D) Actingasa Bénk-e'r‘and Advisor

“tothe Govem‘me'nt

‘The objective of Central Bank

increasing the Cash Reserve Ratio

of Banks is to create :

(A) Expansionrofcredit_

OY - 3A/14

67,

_(B) _ Contraction of credit -

(C)y - Malntamlng the exastlng level of

- credit .
(D) None ofthese

An instrument of Qualiltati‘ve, Credit

.~ Controlin Indiais :

68.

~ (C) Which have not

69;

(C) Prime

(A) Open Market Operatlons
(B) - Credit Rationing

~ (C) Changein Reserve Rati
’(D) Bank Rate Pohcy :

Non performlngAssets to CommerCIal
Banks mean their loans :

A Fetchmg very low rates of

mterest

(B) 'For which interest/instaliment: . ,

has remamed unpald well after N
- due date

been |
- distributed-atall, ..

(D) leen to sick. mdustrla! anit

: Bank rate refers to the* -
(A) Interest

fate at Whlch—.
+ Commercial Banks accept
deposits from the public -

(B) Rate at which Central Bank-

rediscounts
lending rate of
_ Commerc:lal Banks |

(b) In_terest rate at
Commercial Banks lend to the

customers

* Contd.
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70. Moral Suasion is also a weapon of (C) Opendebtoperations

Credit Control under: - - | (D) Closed equity operations
(A) General methods of Credlt , ‘ e
Control ‘ 74. Broad Moneyin India is :
- (B) Quantltatlve methods of Credlt,_ (A) ' Narfow, ”79”ey Post fome
" Control | | Savings
(C) - Seiectlve methods of Credlt (B Narrow Money+T|medep03|ts
' Control . of Publicwith Banks

. (D) None of these (C) Time deposits of Public with
S - ~ Banks + Post-Office Savings

71. The rate which.the Central Bank '

borrows money from Commermal

‘Banks within the countryis _ S ‘
A - Repo rate SRR - 75. The most liquid asset next to cash,

(D) Nairrow Money + Time deposits
+ Post Office Savings '

(B) Reverse Rep o rate which the banks possess is:

C) Bankrate o
a (D) Credtt rate ‘_ o - ~(B)- ‘Moneyatcall
SR (9 Treasurybllls
(D) Inland bills

(A) . Advance to customers

72. ‘Statutory L:qwd:ty Ratio is obtalned

as: .
| '(A) Liquid AssefslNe‘t De'man-d_ - 76 t)dring‘ the period of depression,
s and Time Liabilities - < - - credit creation is :
(B) Liquid Assets/Bank's Total - (A) Less
) Deposits - ', . . ~ (B) More
-(C) Liquid Gash maintained with ‘,(C) Unchanged
RBI/Net Demand and Time (D) None ofthese
Llablllfles ' -

D) None of these 77. Money multlpilerm indlan context is

assocmted with'’:

73. Buying and Selling of Government " (A) Growthin Productive Investment .
_ seountles by Central Bank is called (B) Growth in Money Supply '
(A) Closed market operat[ons (C) Growthin Corporate Saving
Y .

(B): Open market operations "~ (D) Noneofthese

oY-3A/14 | (11y __ ~ (Tum over)




78.

79.

80.

81.

-OY = 3A/14

A

G
- (B)

(©)

N0)
(A

()

Which qf-fhe following is not a
regulatory body ? -

RBl '

SEBI .

HDFC

IRDA

(B)

)
(D)

Which of the following is not correctly
matched ?

Central Bank — Credit creation

Commercial Bank — Short-
term Loan

Land Development Bank —
Business Lo‘an.

EXIM Bank — Export-Import
Credit o

High Powered Money s :

© Bank -
(B Money held by the Banks

All loans and advanceé of

Banks . 7
(D) Currency held by Public and
Cash Reserves of the'Banks

Which one of the fblfowing is not an
objective of fiscal policy 7

(A)
(B)
()

'Economic growth
Economic stability

MaXIm[satlon of ievei of
emp[oyment

Regulat[ng financial lnstitutlon

)

Bank's reserves at Central

- 82.

83..
A

85.

(©)

(12)

- ®)
)
(B)

84,

(©)

A tax is said to be buoyant if tax
revenue is proportionally : ‘
(A) More responsive to changes in
output

Less responsive to changeés in |
“output '

(C) Equally responsive to changes
in téx_base' |
Less-responsive tochangesin
taxbase - |

Tax incidence refers to:

Whether a tax i IS progresswe

proportional or regresswe .
How often a tax is co![ected '
(C) Thé 'pe'r'sc-)n or group who ends
o “up péying_a tax. '

How a téx is collected

Which tax is imposed so[eiy by the -
Government of: Ihd[a'? R '

(A)
(B)

Sales Tax ‘
Excise Ddty
‘Custom Duty

(D) Octroi Duty

A_téx is said to be progressi\}e, when
the Marginal Rate of tax s :

(A)
(B)

Greater than average rate
:Less than averagerate.
Equalto average rate

(D)

Equal to the marginal sacrifice

. Contd.




86.

87.

88.

89.

- OY-3A/14

The concept of Zero-Based
Bt'idge;ting was introduced by :

(A) RAMusgrave

) PetePyhrr

- (C) J.M.Keynes
(D) A.H.Hansen

A tax imposed on a commodity

‘according to its weight, size or

measurement is called :
(A) Ad valorem tax .

(B) Specific tax

(C) singletax
(D) Double taxation
The distribution of the burden of |

‘paying a tax between buyeré and

sellers is called :

(A) Sharing of tax burden. .

(B) Shifting of the tax

i

 (C) 'Incidenceof atax

(D) Tax capitaIUZation

A curve which shows the relationship

between tax rate and tax revenue is

- known as:
(A} Laffer curve .

(B) " PHilips curve

(C);' Lorentz curve

'(D) Ogii/ecurve

(13)

90. Fiscal deficit less interest payments™

91.

92,

i

- 93

3

is called : _
(A)  Net fiscal deficit
(B) Monetised deficit

(C) Primary deficit

(D) Budget deficit
Which one of the following is short-

period de.bt meant to rﬁee_t curren%

needs, thatis filling temporary gaps

. inbudgets ?
~ (A) ‘Funded debt
(B)  Un-funded debt

(C) Redeemable debt

" (D) lrredeemable debt

Adolph Wagner is remémbéred for
his theory on : : J

V(A_) < Céhnons of féxatioln

(B) Publicrevenue

(C) ‘ Ené:reasin_g state acti\)ity

(D) Public debt

Interest paymentis an item of :

| . (A) Révenue expenditure
| (B) ‘Capita[ éxpehditure

- (C) Planexpenditure
(D) No‘neofthese '

(Turn over)




94. - Which one of the following is not a

95.

96.

97.

A

. (D)

(D)

method.of Redemption: of Pubhc
Debt ? '

\ Repudiation |
(B)
(©)

Refunding _
Voluntary debt

Actual repayment by means of

creating special funds or

through capital levy

Who conducts Public Debt opera-
tions of the Government of India ?

A)
(B)
(C)
(D)

Who amorig the following developed

State Bank-of India
The Reserve Bank of [ndia

~ the concept of Effective Incidence'of

aTax?

(A) - Ursula K Hicks

(B) JR Hicks "

(C) H Dalton

(D) AC Pigou

Total expenditure minus Total recipts
excepting borrdwing is equalto:
® '
(B)
©)

Revenue Deficit
Fiscal Deficit
Capital Déficit
Budget D_eficit

The Union Ministry of Finance

The Controller of Capital Issues

98

A once for aII Public spending,

regarding of its size to lift up the

economy froma trough IhtOﬁWthh it

has fallen and set itonce again onthe.

. road to full employment is called :

©
(D)

99.

100.

©

(B)

(A) Pump Priming

(B) Compensatory spending
'F,unctiona[ finance

Fiscal finance

Fiscal Consohdatlon at the Centre -

“can be achieved by :

(A) Ratlonalisation of major

~ subsidies alone
(B)  Reducing Defence expenditure
 only _
Raising Tax-GDP ratio. and.
rationalization 6f subsidies
the Central

Assistance to the States

“Minimising

)}

Grants from the Centre tothe S_tafes ‘
under the recommendation of

Fmance Commission are known as:
(A) Plan grants ,

Development aésista nee
(C)
(D)

Satutory grants ‘

D[scretlonary grants
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